THE JERK

(A roller coaster for the fool in your life.)
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The force applied by the car during the
first 15 meters as it climbs the first hill.
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Questions about “THE JERK’ roller coaster

182 What is the velocity of the roller coaster car at location “B?”
183 What is the velocity of the roller coaster car at location “C?”

184 How much power in watts and horsepower is generated by the car as it travels from
location “B” to “C.”

183 What is the velocity of the car at location “D?”
186 What amount of power applied to the car to slow it down between location “D” and “E?”

187 What is the spring’s force constant?
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